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Leçon 02 – Correction des "Exercez-vous"  
 

 

 

 

Exercez vous 3 

 

Déterminer les dérivées partielles secondes des fonctions suivantes : 

f(x, y) = x3 - y2x+2xy+5  

f(x, y, z) = xyz
3 

-2x
2 

y 

f(x, y) =  ln(x2y+ y2 ) 

 

 

Solution 

1) 
∂f

∂x = 3x
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– y
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+ 2y  
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∂
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∂x∂y
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∂
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∂
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 2) 
∂f

∂x = yz
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-4xy 
∂

2f

∂x
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∂
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∂x∂y =z
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∂x∂z =3yz
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2
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2
       

∂
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2
        

∂
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3) 
∂f

∂x
 = 

2xy

x
2
y+y
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∂x
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2y(x
2
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2
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2
y + y

2
) - (x

2
 + 2y)(2xy) 

(x
2
y+y

2 
)
2   = 

-2xy
2

(x
2
y+y

2 
)
2  

 

 
∂f
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x
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